SO0

3000

2000

1000

2800

2000

1800

1000

500

2500

2000

1500

1000

500

Run 5359 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: G03T3
Mean: 14.5808 «/- 0UD0D3E3
St Dhey- 0UB220 4~ 00024

=== Lager OFF ---
Entries: 43543
Mean: 15607 «- 0.0012
Sid Dhay: 02406 - 00009

Run 5358 quartatwize, Diffs)

=== Laser O -—
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Sid Dey: 0LAFDT =~ 00014

=== Laser OFF ---
Eniries: 42543
Mean: 00009 +- 0.0012
Sid Dey: 0372 4~ 00008
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=== Lager OFF ---
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Enlries: G373
Mean: 28,3764 &/~ 0U00E2
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Run 5358 quartetwise, Asyms LISbg1
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Run 5359 quaretwize, Asyms USbg2

=== Laser O -—-

Entrie=: 60T
Mean: -0.0019 «- 00013
Sid Dev: 0145 & 000G

=== Laser OFF -=-
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Mean: 000023 +- LN1S
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Run 535% quartetwise, Asyms Vert Finger
_ === Laser O -—-
Entries; G0ET3
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== Laser OFF ---
Enlries: 42543
Mean: 0004 +- 0.0018
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Run 5359 guartetwize, negHO vs time

LT |
i!!!=i| | F ” | L]
wE! | : l
i
=
T
o= LI TR T T T T T O TR TR RTTITIT
|'_'|:|—||||| ||||||||||||||||||i||||||||||‘||l||l||||
a 20 40 &0 B 100 120 140 180 180 200 20
EnbryS
Run 5359 guartetwize, summ vs time
"o | N
E I| - ’ F WM m !ﬂ ’ | lm,
— [ 1
:| i ||! | F
20— t !
153— | :
1|:-f—
s .
e VO T L L L L L YT T TR TR T T RTT YO (N L LTI LLL,
I:l:l—IIII‘II“IIIIIIIIII‘JIIIIIII-IIIII'IIII'IIHII'IIII
a 20 17 &0 ap 100 1240 1400 180 180 200 28
EntryS
Run 5359 quartetwise, posH4 vs time
[ L wrid o et e e — Lo = 2] Vow eROTE | = e ar P dakablenll
140 E}_ : . ; . ! ’ i
120 —
m:E—
at-f—
&0 —
o
zn-f—
ﬂ:I 1 L L L 1 I L L L I L L L I L L L I L 1 L I 1 L L I L 1 L I L L L I L L L I L=l I-I L L L
a 20 40 &0 ap 100 120 140

Entrys

=10

wid

wid



dili4

pbskd

asymEsu

dh

40

13

3

25

20

15

iy

=
-
U'lr\-

Run 5359 gquartetwize, posH4 vs time

|IIII|IIII|IIII|IIII|IIII_|

I, 0 Nife

i

LY.L LI

jac]

100

&y

&l

40

20

20

40

&l

20

4

AL LA L LY I
0 Bir Al

100

Run 5359 quartetwize, diffd ve time

(M BRNY  hedE p B LR
150 140 160 TRD

200

2

Entry%

e =

Run 5358 quartatwise, asymdsub vs time

T R

HLS

Oy

e
e rE o

[4

e R L L -

L . :
. o ) )
S i : :
I'l Lmll J
[
[ k) H = b
L AT .
s AR -

45

rieg 4

40

i

an

25

20

15

i

=

ak

surrmd

Hir

EH

ik

S

40

an

20

iie

[
-
I?lr\-

Run 5359 guartetwize, negH4 vs time
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